TH6EE BREFHEMH—E

(£ THAHEEELTB]
(REKEFE AL | LBKEZEDH)
i) BEZH i Ack="1) B11HERE 94 63 2,000 800
B12BRE 94 63 2,000 800
B14EERE 189 192 4,200 1,700
B21ERE 189 195 4,200 1,700
322ERE 126 130 2,800 1,200
323HERE 189 221 4,300 1,800
331HERE 157 180 3,600 1,500
332ERE 104 80 2,300 900
FEHTL4 SR BIREEEE 149 120 3,300 1,300
411ERE 135 143 3,000 1,300
A12ERE 135 143 3,000 1,300
413BRE 90 63 2,000 800
415EERE 349 341 7,800 3,200
421BRE 135 80 2,900 1,100
422FEEE 135 99 2,900 1,200
423FRE 90 63 2,000 800
426EEE 51 30 1,100 400
427 BRE 51 30 1,100 400
428 EEE 67 42 1,400 600
432FRE 135 98 2,900 1,200
A33BEE 90 63 2,000 800
436 EERE 51 35 1,100 400
ABTEEE 51 35 1,100 400
SZRTILS S8 522 RE 100 48 2,100 800
524 FEE 50 24 1,100 400
525 RE 124 72 2,700 1,000
526 HRE 93 48 2,000 800
i pdeg= ) 611EEE 245 245 5,500 2,300
621EERE 245 221 5,400 2,200
EHRTL8 54E U1 56 25 1,200 500
S11HRE 107 72 2,300 900
812BRE 107 96 2,400 1,000
821HERE 107 72 2,300 900
822 ERE 107 96 2,400 1,000
BHEERN HEHER ERRE £ 235 255 5,300 2,200
ZEM=E12 73 48 1,600 600
F21HEE 235 255 5,300 2,200
F22FRE 81 40 1,700 700
ZBME23 71 48 1,500 600
ZEM=E24 73 48 1,600 600
EIHERE 27 312 6,100 2,600
E2FERE 123 72 2,600 1,000
ZBHZE33 33 20 700 300
ZEM=E34 69 48 1,500 600
ZBEME41 34 20 700 300
ZEM=E42 70 48 1,500 600
REE EZBTEE6SEE F1ERE 132 118 2,900 1,200
F2ERE 69 51 1,500 600
EIFERE 258 240 5,700 2,300
FAERE 69 57 1,500 600
F1URE=E 45 24 1,000 400
F2HEEE 35 18 700 300
EIREE 34 24 700 300




= KHET EFER ERETHR REEEA 158 139 3,500 1,400
EFE KEZEEB 158 139 3,500 1,400
KEREC 158 139 3,500 1,400
K#ERED 158 139 3,500 1,400
INERED 52 30 1,100 400
INEREE 52 30 1,100 400
ERERIRIIRME ARERE 86 32 1,800 700
ERRERIE 1MEERE 192 143 4,200 1,700
2fEEERE 289 264 6,400 2,600
ARET BlETZE |[EEE 101(3101) 185 150 4,200 1,600 (0]
102(3102) 156 120 3,600 1,400 (@)
201(3201) 185 98 4,000 1,500
202(3202) 156 926 3,500 1,300 (@)
301(3301) 267 266 6,100 2,500 (0]
302(3302) 94 70 2,200 800 (@)
303(3303) 128 104 3,000 1,100 (0]
304(3304) 97 69 2,100 800
BEMRK AT 4T IL—11(6201) 201 150 4,500 1,700 (0]
AT 4T IL—L.2(6202) 120 90 2,800 1,000 (0]
HIE1(6301) 84 54 2,000 700 (0]
+IE2(6302) 85 54 2,000 700 (0]
HIE3(6303) 86 54 2,000 700 (@)
% H#IE2(6305) 62 45 1,400 500
% B #ZE1(6306) 58 45 1,300 500
B & =1(6501) 82 54 1,800 700
B E=2(6503) 82 54 1,800 700
+3+—21(6506) 120 72 2,700 1,000 (0]
BE-EER EEE 179 110 3,900 1,500
= KHET BEE AR A301EEE 82 48 1,800 700
BFE AS02EEE 82 48 1,800 700
A303HERE 54 42 1,200 500
AS07HEEHE 149 120 3,300 1,300
ALO1ERE 112 88 2,500 1,000
ALO2ERE 82 65 1,800 700
A4OBHERE 95 72 2,100 800
ALOLAEERE 95 68 2,100 800
ALO5ERE 149 108 3,200 1,300
ASO1EHRE 149 120 3,300 1,300
DS## DS303EZE 52 20 1,100 400
DS304#&HE 104 54 2,200 900
BWi# BW106EEE 184 190 4,100 1,700




